FA: o2&t
Hm:oclohpe] 9 HYEBNM (S L/ =)
ool MEBAN SoHo Y BE (S91:&8)
- _ — PoRE |
SN ZB - SR(SH) - MRAIY - B 0l &t St HIRE2
of 22tk 12,325,178 10,362,576 1,962,602
= 1,098,800
N 7,660,000
N 424,500
= 3,141,878
ootate| S GHYSAIMM (SEHLAH/GH L= & 6,095,600 3,464,400 2,631,200
N 5,668,000
o= 427,600
3N Folie e - EE 5,775,200 3,224,000 2,551,200
N 5,398,000
o= 377,200
HOLMY|(=1) 4,701,600 2,200,000 2,501,600
N 4,698,000
T 3,600
202 044l 3,600 0 3,600
01 =L YI 3,600 0 3,600
OHHEHIALY =& 3,600
403 XA XISHHSXt=01H 4,698,000 2,200,000 2,498,000
N 4,698,000
01 AXISHMA=E L 4,698,000 2,200,000 2,498,000
OH O FHIALY (4902 ) 4,698,000
N 4,698,000
HOtE Al MEfZAL E(=21) 1,000,000 1,000,000 0
Xl 700,000
< 300,000
207 A0 | 1,000,000 1,000,000 0
Xl 700,000
< 300,000
01 2 ESHI 1,000,000 1,000,000 0
OOt Al AEIZAL 89 (=210) 1,000,000
Xl 700,000
< 300,000
& O Sehatelti = 23,600 24,000 2400
202 044l 3,600 4,000 2400
01 =L YI 3,600 4,000 A400
Ot It Sg2cithz =& 3,600
308 XtXIEHMS0IH 20,000 20,000 0
01 UAXSHHBAEES 20,000 20,000 0
O Se2telti 20,000
OLSC2 SHE4A JHRII AY 50,000 0 50,000
403 XA SAH=01A 50,000 0 50,000
01 "XIESMAEE X 50,000 0 50,000




FA: oHEgetn
& olorae] o o LEBML (SHHS /o4 - 01 F)
ool MEBAN SoHo Y BE (S91:&8)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
|| OOSUE 334 IR0l MY 50,000
HOLMEH 28 & HSBES 320,400 240,400 80,000
X 270,000
S 50,400
AHSAAMYI01(=12) 270,000 190,000 80,000
X 270,000
308 AFXIHMSOIH 270,000 190,000 80,000
X 270,000
01 IXSHMBSEES 270,000 190,000 80,000
Oxgs oA M I =04 270,000
X 270,000
HR % HRS =AHIMAEXA 50,400 50,400 0
403 MRIEHSA201H 50,400 50,400 0
01 HXSHMA2E xR 50,400 50,400 0
OHS ¥ HRS =AM (7CH) 50,400
g2t & S[RIIxg (sl /of L4t - 0 E) 4,322,423 6,646,000 A2,323,577
= 1,098,800
X 1,992,000
= 1,231,623
A S e & 2tel 1,305,000 9,000 1,296,000
= 1,000,000
& 305,000
ofgassoy 2dat 5,000 9,000 24,000
201 2Er2gH| 5,000 5,000 0
03 At2 I 5,000 5,000 0
OZE: LS+ M 24 5,000
NS+ MEANAME AE 1,300,000 0 1,300,000
= 1,000,000
= 300,000
403 AHRISHS K201 1,300,000 0 1,300,000
= 1,000,000
= 300,000
01 HXSHMA2E xR 1,300,000 0 1,300,000
Odffga s AAXAME 2HE 1,300,000
= 1,000,000
= 300,000
oty - dIM elet 1= 2,808,800 5,434,000 A2,625,200
= 98,800
X 1,992,000
& 718,000
g MAZ= XA (=1) 70,000 38,000 32,000
= 70,000
308 AtXIEHMSOIH 70,000 38,000 32,000




=N GHREer
M3 i Y2B U SRIGEL(STHALSA/HY S - OfE)
SRl GHFBHE - YW QIEmet RE (S5 #9)
PSIE|
SH - . AA(SA) - NISAY - BES Ol &4 ‘@EOEH HwE2
= 70,000
Ol MRS HBL2ES 70,000 38,000 32,000
OMLUMATX IST2 I XA 70,000
= 70,000
OEMEOIS ARY HEXS(2D) 28,800 36,000 A7,200
= 28,800
308 XEXIEHHIS 01 & 28,800 36,000 AT,200
= 28,800
Ol MRS ML 2 XS 28,800 36,000 A7,200
ONEXEIS NSE HEX 28,800
= 28,800
HEZH TH(2D) 260,000 650,000 A390,000
X 200,000
= 60,000
403 REXIEHHIS RH2 0l & 260,000 650,000 A390,000
X 200,000
= 60,000
01 RIXISHRIR =2 5 260,000 650,000 390,000
OHZEZR YKNHEZR X4 260,000
X 200,000
= 60,000
SoHo HES (RS FH AZNY K (D) 835,000 520,000 315,000
X 642,000
= 193,000
403 REXIEHHIS RH2 0l & 835,000 520,000 315,000
X 642,000
= 193,000
01 RIXISHRIR =2 5 835,000 520,000 315,000
OSHO 2SS HRE BRXAN 835,000
X 642,000
= 193,000
NS AAI23 =3 50,000 54,000 4,000
308 XHXIEHH S O & 50,000 50,000 0
Ol MRS ML 2 XS 50,000 50,000 0
OOIAHE SiARS S H 50,000
ISR OEHEOIS SHE HL(2D) 650,000 0 650,000
X 500,000
= 150,000
403 XEXIEHRI S RH2 01 & 650,000 0 650,000
X 500,000
= 150,000
01 XSRS X 650,000 0 650,000
OXSAYA HEMEOIS SH5 He 650,000
X 500,000




FA: o2&t
A HYBT YL SRIBNEIS(SEHY LA/ AL - O1E)
Ee: ot e Eet 2= (&2l &)
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
| = 150,000
22 oS0l X ¥ Ex ) HUAIE(=21) 845,000 0 845,000
Xl 650,000
T 195,000
403 XIS S AHE01 A 845,000 0 845,000
Xl 650,000
< 195,000
01 AXISHMA=E X 845,000 0 845,000
OZE=d X0l Xt & 21 Fbl 845,000
Xl 650,000
T 195,000
ol JIBAIE =4 20,000 0 20,000
403 UHXISHHSAH=0l & 20,000 0 20,000
01 AXISHMA=E L 20,000 0 20,000
O=4elH JIBAIE =4 20,000
LEQLEXSHAANSE AEE= 50,000 0 50,000
403 XA XISHHSX=01H 50,000 0 50,000
01 AXISHMA=E X 50,000 0 50,000
OLUBALEXZHGIANEE ANEES 50,000
gtsolid eEF I =4 208,623 1,203,000 AQ94, 377
g Iz 43 KR 100,000 1,074,000 A974,000
202 044l 3,000 4,000 A 1,000
01 = LHO Y] 3,000 4,000 A 1,000
O=HN&gz g4 HEFM o 3,000
308 AtXIHHSOIH 97,000 1,070,000 /973,000
01 IXEHBEAELS 97,000 1,070,000 A973,000
OR9g =M=z 43t XA 97,000
sl 2Za4ds 2AM 24 13,023 15,000 A1,977
202 044l 7,200 8,000 A 800
01 S LHO B 7,200 8,000 A 800
oOXEE WHHEEXN 7,200
307 212+0I ™ 5,823 7,000 A1,177
04 QIZFHHAIAIH E X 5,823 7,000 A 77
ogzgds goM =24 5,823
SHEt=U3 HE X 40,000 0 40,000
308 At XIHHSOIH 40,000 0 40,000
01 UAXSHMB L EXS 40,000 0 40,000
O3 ME=HaIH=l K& 40,000
SNz 222 ME 10,000 20,000 A 10,000




FA: ol2eetn
A HYBT L SRIBEL(SEHY LA/ AL - O1E)
&2e: gsoid UER dAIIKN 24 (&2l &)
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
308 XtXISHMSO0IH 10,000 20,000 A 10,000
01 UAXHMB L EXS 10,000 20,000 A 10,000
oO=N&2 EE=S HE 10,000
fos 2ot2d XJ 45,600 49,000 3,400
201 et A 33,000 35,000 A2,000
01 At 2teltl 18,000 20,000 A2,000
of%Ie 24 & 2l 18,000
02 5323l 15,000 15,000 0
oOFsg 28 3523 15,000
202 044l 12,600 14,000 A 1,400
01 = LHOYI 12,600 14,000 21,400
ogttzd X& 12,600
SH AL MBS (GH2E ) (SBIoH L= /oH 2 1,857,300 216,500 1,640,800
& O E)
EN 424,500
T 1,432,800
OISt2 st 224 1,857,300 216,500 1,640,800
EN 424,500
< 1,432,800
oieted 2 ol tAl =& 28,800 29,000 2200
202 044l 3,800 4,000 2200
01 S LHO B 3,800 4,000 2200
Odiety & GHRtALT S8 =8 3,800
403 MRS S K201 A 25,000 25,000 0
01 [XISMA2E X 25,000 25,000 0
oHOHE & ofietAts =& 25,000
Sofiet = BAEH E) N 1,404,000 0 1,404,000
202 ¢4l 4,000 0 4,000
01 =L YI 4,000 0 4,000
Osoiet @ IAHEH ) =& 4,000
403 XA XISHHSXt=01H 1,400,000 0 1,400,000
01 AXISHMA=2EEX 1,400,000 0 1,400,000
Osofiet = JAHEH B X 1,400,000
o QHMAIA & QHAXR R &F 424,500 0 424,500
e 424,500
308 XtXISHMSOIH 424,500 0 424,500
EN 424,500
01 AXEHBAELS 424,500 0 424,500
Ol SHEAIE EH=E 424,500
e 424,500
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